Managerial Accounting
Acct 2301
Spring 2007
Exam 2 – Solutions

Name                                                         ‘
1. Opelika Products Company operates three production departments within a single facility. Each department produces its own products and maintains its own production equipment.  Although they share a common facility, each department is overseen by a separate supervisor.  Which one of the following costs is a direct cost of each department?

a. Lease payment on the facility

b. Depreciation on the facility

c. Plant manager salary

d. Cost of goods sold

e. None of the above

2. Franchione Company has three departments occupying the following amounts of floor space:

Department A:  15,000 square feet

Department B:  10,000 square feet

Department C:  25,000 square feet



        Total   50,000 sq feet


How much depreciation should be allocated to Department C if total depreciation is equal to $200,000?

a. $200,000
Rate:  $200,000 / 50,000 = $4
b. $  75,000
$4 * 25,000 = $100,000
c. $  50,000

d. $  25,000

e. None of the above
3. Kicks Company makes two types of shoes – basketball and running.  The basketball shoes require 3 hours of labor per pair and the running shoes require 2 hours of labor per pair.  During the most recent accounting period the company made 5,000 pairs of basketball shoes and 8,000 pairs of running shoes.  Indirect manufacturing costs (rent and utilities) amounted to $77,500 for the accounting period.  How much overhead should be allocated to each pair of running shoes?

a. $2.50

Total OH = $77,500
b. $5.00

Total Cost Driver = 31,000 DLH (15,000 + 16,000)
c. $7.50

Rate = $77,500 / 31,000 = 2.50 
d. $10.00

Running shoes = 2.50 * 16,000 = $40,000
e. None of the above
$40,000 / 8,000 = $5.00
4. Boothe Company paid its annual property insurance of $24,000 in February.  The company expects to make 48,000 units during the year.  During February, 4,500 units of product were produced.  Based on the information, how much of the insurance should be allocated to the products produced in February?

a. $2,000

Rate:  $24,000 / 48,000 = 0.50
b. $2,250

$0.50 * 4,500 = $2,250
c. $4,000

d. $9,000

e. None of the above

5. William Samson Co. produces three products.  The products’ identified costs and production information are as follows:
Product A
Product B
Product C



Direct Materials
$18,000
$12,000
$15,000



Direct Labor

$  6,000
$12,000
$10,000



Units Produced
    4,000
    5,000
    6,000

The company’s overhead costs are $14,000.  The company allocates overhead based on direct labor dollars.  What is the production cost per unit for Product B?
a. $8

Total DLH = $28,000
b. $7

Rate = $14,000 / $28,000 = 0.50
c. $6

B = .50 * 12,000 = $6,000
d. $5

Total Cost = 12,000 + 12,000 + 6,000 = $30,000 
e. None of the above
Cost per unit = $30,000 / 5,000 = $6
6. The College of Business Administration needs to distribute $12,000 received from an anonymous donor and earmarked for three business student organizations; Accounting Leadership Council (ALC), Finance Association (FA), and Tech Marketing Association (TMA).  Relevant information is provided below:

Possible Cost Driver
ALC


FA
 
TMA
Total
Number of students
90/510 =17.65%
120

300
510
Budged expenses

$5,500/10,000 = 55%


$4,000

$ 500   10,000
Number of organizations
1 / 3 = 33.33%


1

1

Assume that each organization wishes to obtain the highest funding possible.  Which cost driver would ALC recommend to use? 
a. Number of students

b. Budgeted expenses – This will give them the highest % of the funds.
c. Number of organizations

d. A or B,  because they yield the same result

e. B or C , because they yield the same result

7. Pennington Manufacturing Company uses a cost plus pricing strategy.  At the beginning of January, Pennington estimated that total annual fixed overhead costs would amount to $100,000.  Pennington also estimated that the annual volume of production would be 50,000 units.  Based on these estimates, a predetermined overhead rate was used to allocate overhead cost to the products throughout the year.  At the end of the year, it was found that 50,000 units were actually produced during the year.  However, actual fixed overhead costs amounted to $120,000.  Based on this information alone,

a. Products were overpriced during the year.

b. Products were underpriced during the year.

c. Products were priced accurately.

d. The answer cannot be determined from the information provided

e. None of the above

8. Northstar manufactures two types of wheels.  Northstar uses ABC to account for its chrome and aluminum wheel manufacturing process.  Company managers have identified four manufacturing activities for the company:  materials handling, machine setup, insertion of parts, and finishing.  The budgeted activity costs for 2008 and their allocation bases are as follows:




Total Budgeted
Allocation 
Activity


Overhead Cost
Base

Materials handling
$  12,000

3,000 parts

Machine setup

$    3,400

10 setups
Insertion of parts

$  48,000

3,000 parts



Finishing


$  80,000

2,000 hours finishing time
Total Overhead

$143,400
The chrome wheels are expected to use 1,800 parts, 4 setups, 1,600 hours of finished time.  How much total overhead should be allocated to the chrome wheels?
a. $57,360
Materials Handling = 1800 / 3000 * $12,000 = 7,200
b. $86,040
Machine setup = 4 / 10 * $3,400

=    1,360
c. $101,360
Insertion of parts = 1800/3000 * 48,000 =       28,800
d. $114,720
Finishing = 1600 / 2000 * 80,000 =

    64,000
e. None of the above
Total




= $101,360
9. Two of Dell’s primary production activities are kitting (assembling raw materials needed for a particular computer or server in one kit) and boxing the completed products for shipment to customers.  Assume that Dell spends $5 million a month on the kitting activities and $10 million a month on boxing.  It allocates kitting activity costs based on the number of parts used in the product and boxing activity costs based on the cubic feet of space the product requires.  Dell estimates it will use 80 million parts a month and ship products with a total volume of 20 million cubic feet.  Assuming that each desktop computer requires 100 parts and has a volume of 5 cubic feet, how much kitting cost is assigned to one desktop computer?
a. $  6.25

Total Overhead:  $5 million
b. $  9.38

Total # of parts:  80 million
c. $12.50

Rate:  $5,000,000 / 80,000,000 = 0.0625
d. $500

0.0625 * 100 = $6.25
e. None of the above

10. Birdseye Company produces two kinds of porch furniture, wicker and wrought iron.  The company uses a company-wide allocation rate, direct labor hours, to assign overhead to its products.  Through market research, the company has learned that the wrought iron furniture is selling poorly due to its high selling price.  Because it is selling poorly, profit on the wrought iron furniture is lower than management would like.  Birdseye employs a cost-plus pricing policy.  Both types of furniture require the same number of direct labor hours, but the wicker furniture requires more machine set-ups and more expensive packaging.  Which of the following options is most reasonable?
a. Emphasize the sales of wicker furniture.

b. Use activity based costing and adjust prices accordingly.

c. Use number of units rather than direct labor hours as the allocation base.

d. Eliminate the wrought iron furniture from the company’s furniture line.

e. None of the above

11. Which of the following would not be included in the cash budget?

a. Cash collections from sales

b. Cash payments for selling and administrative expenses

c. Cost of goods sold

d. Beginning cash balance
e. All of the above would be included in the cash budget.

12. Vostok Company showed the following expected total sales:

Month

Total Sales 
Credit



May

$60,000
$24,000 
30% May 65% June



June

$45,000
$18,000
30% June 65% July



July

$55,000
$22,000
30% July 65% Aug



August

$50,000

The company expects 40% of its sales to be on account (credit sales).  Credit sales are collected as follows:  30% in the month of sale, 65% in the month following the sale with the remainder being uncollectible and written off in the month following the sale.


The total cash inflows from the collection of receivables in July would be
a. $18,300
65% * $18,000
$11,700
b. $19,200
30% * $22,000
    6,600
c. $22,000
Total


$18,300
d. $33,000

e. None of the above

13. Generalis Company makes two kinds of chairs.  One of the chairs is a rocking chair, and the other is a straight-back chair.  Each type of chair requires approximately 5 hours of labor.  During the most recent accounting period, the company made 9,000 rocking chairs and 15,000 straight-back chairs.  Setup costs amounted to $132,000 for 11 batches (6 for rocking chairs and 5 for straight-back chairs) of chairs produced during the period.  How much overhead will be allocated to each rocking chair if activity-based costing is used?
a. $72.00

Rate:  $132,000 / 11 = $12,000
b. $  5.50

$12,000 * 6 = $72,000
c. $  6.00

$72,000 / 9,000 = $8
d. $  8.00

e. None of the above

14. GVC Electronics produces two kinds of electronic toys, Wizards and Gizmos.  During 2006, the company used 4,000 direct labors to produce 2,500 Wizards and 2,000 direct labor hours to produce 2,000 Gizmos.  Setup costs for the two products amounted to $12,000.  The company ran 5 batches of the Wizards and 7 batches of the Gizmos.  The company uses a company-wide rate to allocate overhead based on direct labor hours.  Based on the fact that using activity-based costing would give a more accurate cost allocation, then
a. Gizmos are overcosted by $3,000. 

b. Wizards are overcosted by $3,000.
c. Gizmos are undercosted by $3,000.

d. A and B are correct.
e. B and C are correct.
15. McDavid Company has completed its sales budget for the first quarter of 2008.  Projected unit credit sales for this quarter are shown below:

January
2,000*$20 = $40,000   
February
2,400*$20 = $48,000  25% Feb ; 65% Mar – 5% w/o in Mar
March
3,000*$20 = $60,000
25% Mar ; 65% Apr – 5% w/o in Apr
The inventory units are sold for $20 each.  Credit sales are collected as follows:  25% in the month of sale, 70% in the month following the sale, and remaining 5% is written off in the month following the sale.  Based on the information given, what amount will on the first quarter balance sheet as Accounts Receivable?

a. $60,000
75% * $60,000 = $45,000
b. $48,600

c. $47,400

d. $45,000

e. None of the above

16. Skyland Company provided the following information relevant to its inventory sales and purchases for December 2006 and the first quarter of 2007:

Dec. 2006
Jan. 2007
Feb. 2007
Mar. 2007

Cost of Goods Sold
$20,000
$35,000
$45,000
$30,000

Credit Sales

$30,000
$70,000
$77,500
$55,000

Cash Sales

$  5,000
$12,500
$15,000
$  6,000

Desired ending inventory levels are 25% of the following month’s projected cost of goods sold.  The company purchases all inventory on account.  The following schedule of inventory payments is provided:



60% payment in the month of purchase



40% payment in the month following purchase


Budgeted cash payments for inventory in February 2007 would be
a. $24,750
60% * Feb Purchases + 40% Jan Purchases
b. $37,500
Feb Purchases = COGS + EI - BI
c. $39,750
$45,000 + 7,500 – 11,250 = 41,250
d. $41,250
Jan Purchases = COGS + EI - BI
e. None of the above$35,000 + 11,250 – 8,750 = 37,500
60% * $41,250 = $24,750

40% * $37,500 = $15,000




Total

 =  $39,750
17. Owl Company is preparing its purchases budget for 2008.  The company has budgeted sales of 50,000 units in January.  The company expects sales to increase 10% each month.  The company would like to have ending inventory each month equal to 15% of the following month’s projected sales.  Based on this information, how many units should Owl Company budget to purchase in February?

a. 55,825 units
COGS + EI – BI = Purchases
b. 56,575 units
55,000 + 9,075 – 8,250 = 55,825 units
c. 64,075 units

d. 46,750 units

e. None of the above

18. Premier Company has budgeted the following information for June:

Cash receipts


$266,000

Beginning cash balance

$  10,000

Cash payments


$280,000
Desired ending cash cushion
$  20,000

If there is a cash shortage, the company borrows money from the bank on the last day of the month.  All cash is borrowed for the month in $1,000 increments.  The interest is paid monthly at 1% on the last day of the following month.  The company had no debt before June 1st.  The amount of interest paid on July 31 would be  

$10,000 + 266,000 – 280,000 = ($4,000)
a. $290

Borrow = $24,000  
b. $240

Interest = 1% * $24,000 = $240
c. $160

d. $    0

e. None of the above

19. Kay Chilcoat is opening Chilcoat Realty on January 2.  For several weeks she has been busy putting together an operating budget for the first quarter of operation for her new business.  Kay has estimated her selling and administrative (S & A) costs are as follows:
January
February
March
Depreciation

$   500

$   500

$   500

Marketing Expenses
$1,000

$   700

$   500

Sales Commissions
$2,000

$4,000

$4,000

Miscellaneous Costs
$   250

$   200

$   200

Rent Expense

$2,500

$2,500

$2,500

Salary Expense

$   500

$   600

$   700

Utilities Expense

$   500

$   400

$   500

Total S& A Costs
$7,250

$8,900

$8,900
All selling and administrative costs are paid when incurred except utilities, marketing costs, and sales commissions.  These items are paid in the month following the month incurred.  What is the amount of cash paid for selling and admin expenses during the month of February?

a. $8,400

$1,000 + 2,000 + 200 +2,500+600+500 = $6,800
b. $6,800
c. $8,900

d. $8,700
e. None of the above

20. The Zintrozak Company provides the following standard cost data per unit to make an estimated 11,000 units for the year:
Direct Materials (2 feet @ $2.50 per foot)
$  5.00

Direct Labor (4 hours @ $12 per hour)
$48.00

During the year, the company produced and sold 12,000 units incurring the following costs:

Direct Materials
26,000 feet @ $2.25 feet
Direct Labor

47,500 hours @ $12.25 per hour

What was the materials quantity (usage) variance?

a. $5,000 unfavorable

Static


Flex
b. $1,000 unfavorable

SP * SQ

SP * AQ
c. $2,500 unfavorable

$2.50 * (2 * 12,000)
$2.50 * 26,000
d. $6,500 favorable



$5,000 U
e. None of the above

21. Pfeiffer Company produces a number of products, including a small American flag.  The firm, which began operations at the beginning of the current year, uses a standard cost system.  The standard costs for one American flag are provided below:
Direct Material (0.5 yd @ $1)

$  0.50

Direct Labor (1 hr @ $10)

$10.00


The company produced and sold 35,000 units at the following costs:


Direct Materials (18,000 yds)

$  17,280


Direct Labor (36,000 hrs)

$374,400


What is the company’s labor rate variance?

a. $10,000 favorable

Flex

Actual
b. $10,000 unfavorable

SP * AQ
AP * AQ
c. $14,400 favorable

$10 * 36,000
$10.40 * 36,000
d. $14,400 unfavorable


  $14,400 U
e. None of the above

22. The Wollongong Company, estimating its sales to be 20,000 units for the upcoming period, prepared the following static budget:


Units:



  20,000
22,000
Sales



$200,000

Less variable costs:


Manufacturing costs

    70,000


Selling and admin costs
    40,000
Contribution Margin

$  90,000
99,000
Less fixed costs:


Manufacturing costs

    22,000
22,000

Selling and admin costs
    17,000
17,000
Net income


$  51,000
$60,000
The owner of the business is not sure about the 20,000 units sales volume and has requested additional budgets.  What is the amount of net income the company will have if are at 110% of the static budget volume level?

a. $60,000

b. $51,000

c. $48,000

d. $56,100

e. None of the above

23. Greenville Company estimated that it would sell 20,000 units at $45 per unit for the upcoming period.  The company estimated that the units would cost the company $30.  During the year, the company actually sold 22,000 units at $43.50.  The units cost the company $25 each.  What is the company’s total sales variance?

a. $150,000 unfavorable

Static

Actual
b. $150,000 favorable

SP * SQ
AP * AQ
c. $57,000 unfavorable

$45 * 20,000
$43.50 * 22,000
d. $57,000 favorable 

$900,000
$957,000
e. None of the above


$57,000 F
24. Cathy’s Florals produced a special Mother’s Day arrangement that included eight roses.  The standard and actual costs of the roses used in each arrangement follows: 

	  
	Standard 
	Actual 

	Average number of roses per arrangement 
	7.5 
	8 

	Price per rose 
	× $0.4 
	× $0.36 

	  
	

	


	      Cost of roses per arrangement 
	$3.00 
	$2.88 

	  
	



	




	  

	Cathy’s Florals planned to make 740 arrangements but actually made 780. 

	



What is the company’s material price variance?  (round answer to nearest dollar)
a. $160 favorable

Flex


Actual
b. $250 favorable

SP * AQ

AP * AQ
c. $480 favorable

0.40 * (8 * 780)
0.36 * (8 * 780)
d. $480 unfavorable

$2,496


$2,246
e. None of the above


  $250 F
25. At the beginning of 2006, Western Furniture Company planned to produce 35,000 chairs.  Each chair was expected to require 10 feet of lumber at a cost of $3 per foot.  At the end of 2006, it was determined that Western actually used 10.2 feet of lumber per chair, which was purchased for $2.85 per foot.  Western actually produced 36,500 chairs for the year.  What is the company’s total materials variance for 2006?

a. $11,055 unfavorable

Static


Actual

b. $11.055 favorable

SP * SQ

AP * AQ
c. $33,945 unfavorable

$3 * (10 * 36,500)
$2.85 * (10.2 * 36,500)
d. $33,945 favorable

$1,095,000

$1,061,055
e. None of the above  


    $33,945

	


